
Romeo & Juliet need the 
Pythagorean Theorem 

Romeo needs to see the love of his life, Juliet.  The only open 
window is on the second floor, 25 feet above the ground.  
Romeo will need to borrow a ladder from one of Juliet’s 

neighbors.  There is a bush along the edge of her house, so 
Romeo will have to place the ladder 10 feet from the house.  

What length of ladder will Romeo need to reach the window? 

 

 

 

 

 

The Capulets are not happy with Juliet.  Mr. & Mrs. Capulet have 
moved Juliet to the fourth floor; her open window is now 60 feet 
above the ground.  Once again, Romeo needs to see the love of 
his life, Juliet.  Romeo has borrowed a 75-foot ladder from one 
of Juliet’s neighbors.  How far from the castle wall will Romeo 

have to place the base of the ladder if the top of the ladder is at 
the base of Juliet’s open window? 

 

 

 

 

 

 

Mr. & Mrs. Capulet are really determine to keep Juliet and 
Romeo apart.  Mr. Capulet has dug a 45-foot wide moat around 
the wall of the castle, and cut the ladder down to 65 feet.  Will 
Romeo be able to reach Juliet’s window, which is 60 feet above 
the ground , if he places his ladder on the far side of the moat?  

Prove it. 
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